www.wtsensor.com

S WH -~ T
ol oo R =
%Muﬂmoph BEMUS D
za__w._.om| A_?_EM__ou___
o1 4 R0 & < O .
:gam_x_ﬁa._wml muw__MRJ_W o0 oo ﬂm
WJE_EEum o i Ul & 0= -
@ _:%o_._.___gun_e A_Q|A=__.__.AAM_ o._.ﬁu_m_._u _M_ua _
— mo|._..ﬁmMu m__m.:.Wo._.m_u QL:H_ = 1o
- N = — Em_ﬁxﬂm mEo_ TR
AS=ns Si6F - m®R _ o -
A AR g T 0] -y _ R0 =
W mon_Ho.A <00 2 =Yy K
it wa A WIS paw o 0 0B =
HE WS S R mEl FEES e
=.__ otlenMo_Em _u_._o_ax|ﬂomm Hr K U%L 9
W Smlesu®Towd w = W ¢ o= N
o 2 0 KIr = ~ = W T . H o} ° ©
T~ R0 o) O | Wl
Wﬁwgwﬂ_c._ _Emm mﬂ_no ) MMD_._ol._m_x@uEAA_. =
0 m <2 oW 2 L= R0 yp 2 o waw Sl <
! = R LW ) Wo — KU <
o o F ol o o J Kr -0 <0 = = P WAl I
S PEE:_._M;AO = NS IWDleﬁm =
Ec Hi0 ~ o = 0 < Jo S T = I <
= T_._L||T.A|_ MIms s o ~ T2 R ]
)| = Oup P i R R L L nnoEREHE £
wa B W R T K mﬁ I &7 20 0 ol WS E X
T O —
< A o < A.,
o = 3
o = H (@)
i - I oo o g
~ o w O W kR _ —
O y = K o H o) o3 wﬁw_ = o < <+ <+ o S|®
a x qu o o I N I
2! - oH 0 N m |»
W Jo: ok I RS %mlﬁ u_J_Ul__o___ ._m_m_o____ %m%
- 0] rey o 0o H O|._ .ATAO._._.N._O._WWE _h_uﬂmuu ﬁwv%mo
= o g " _._.|_.A| - H = _ — =0 x? Y] o
2 __poﬁ__;.__ﬁﬂ_.V iod x_o AL = <0 W O,M.__MHHMA% - < | H
- mouLn:lMpE ﬂ,rc 7 o :::Dé %Iﬂ@oI,é V=) O ol
R o) U0 AJ Al =T = e b 0o =
& = — K .- O] <4 o o) o K- g RO <0
suma s Yy 95  zagk_=H 0o ot
4 _ W R0 @ A W OR =0 g @M s zE ol s 57
s RO rANE| N R |,|e_u, = n z m < ) -
% B W % = 5 0 o) <l of o R R TORWM® © B8R 3K 2
' 0 RO@A<Z RO mﬁm_yl._u_x ™ yo <F O = < ) an| oF
0/0 T 4 Kr of 7 3l R0 = 30 O = 4D ol {1 U
. = 30 o8 K0 o3 m o% o =1 | 10
K-~ . of kU o3 o% = =il
Al . S ID.W_.AO__A_._.__
™ < =1 KIr
o3 | L4
00N L4 | opd | @



http://www.wtsensor.com/

2
o

0x
olr 5

.t\“ l'!_,!-,‘

AT sensor
metolel (AHs--)

2K AKX Pt100 A =
A 100MQ /250VDC
=g AN <30s
o2 ot E A <0.2%FS/H
& AF ®8mm
23 =25 8 -40~85T
&I HalA 2088 AH Ol A
83 2 P65
ME 304
X0 &= E3 25Nm
o
2088 %
10
Insertion depth mm
Xl —
In mm @
Mounting thread Hex g
LIAF HZ
LIAI 2 E C1: M20x1.5-6g C2: G1/2
HEx21-d2 Hx27-4s
T T T
In mm o “
M20*15- G172
HE E3 15~25Nm 15~25Nm
LIAI 2E C3: M14x1.5-6g C22: M16x1.5-6¢
HEX24 w24
Xl == = I I =
In mm - -
M5 6g i 15-6g
HE E3 15~25Nm 15~25Nm
0 Ede JtAe WA, XA ME, LAt &2 2 o4 5 Ogst 40 et &etd LUt

2

www.wtsensor.com


http://www.wtsensor.com/

N

MNITsensor

ol

T RE
S ECEE e w9 bl 2
~50~100 ~50~100C
~50~150 ~50~150C
~50~200 ~50~200C
~50~250 ~50~250C
0~100 0~100C
0~150 0~150C
0~200 0~200°C
0~250 0~250°C

02
0%t
to
W
02
i
it
L
tol

HOlI= RVVP 3x0.2 3| 100050000000
=2 o
PCT400 - (-50~100) - B1 - C1 - LO50 - JIX
| |

MEZ 22 PCT400 &Il A=A

J1: 2088 H0lA
pE——— J1X: 2088 AHOIA
=T & ALE CIAZEA0I
-50~100: -50~1007C
-50~150: -50~150C Aol 210:
-50~200: —50~200:C L030: 30mm
-50~250: -50~250C L050: 50mm
0~100: 0~100TC LO70: 70mm
0~150: 0~150TC L100: 100mm
0~200: 0~2007TC
0~250: 0~250TC

LEAF &
- C1: M20x1.5-6¢g
E=E Cc2: G1/2
B1: 4~20mA C3: M14x1.5-69g
B4: 4~20mA+HART C22: M16x1.5-6g

www.wtsensor.com


http://www.wtsensor.com/

“MITsensor

0ll: PCT400-(-50~100)B1C1L050J1X
ME 24 PCT400, 2% 8%I: -50~100 C, =& &S: 4 ~20mA, LIAF HZ: M20 x 1.5-6g,
&2l 210l 50mm, &I HEEH: 2088 HOIA CIAZ 0l E&

2 g
) =8 MY NS B85 222 28482 =0lotaA

= Al
@ M3 228 ¥ ds H2H0IEM e E88 27 P%% ArE A E20F JtsELICH

Wotian 2 Al &
MEtot) MZES

M2
et M9
Nanjing Wotian Technology Co.,Ltd.

Website: www.wtsensor.com
Add: 5 Wenying Road, Binjiang Development Zone, Nanjing, 211162, China
Sales Manager: Wuzhou Lian

Email: lianwuzhou@wtsensorus.com

4 www.wtsensor.com


http://www.wtsensor.com/
mailto:lianwuzhou@wtsensorus.com



